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1. Chunnaic
Mairi
an
duine
   a

threothas
an
acadh.

see.past
Mary
the.sm
man.sm  wh-C

plow.relfut
the.sm
field.sm

‘Mary saw the man who plows the field.’

2. Cha
robh

an
tuathanach
nach
robh

ann


not
be.past.dep
the.sm
farmer.sm
neg-C
be.past.dep
in.3sm

riamh
ann.

ever
in.3sm

‘The farmer who wasn’t there was never there.’

3. Tha
gaol
aig
an
tuathanach
leis

an
taigh


be.pres
love.s
at
the.sm
farmer.sm
with.3sm
the.sm
house.sm


[ann an]
Glaschu
air
a’
bhean-

taighe.

in

Glasgow
on
the.sf
wife.sf

house.sm.gen

‘The farmer whose house is in Glasgow loves the housewife.’

4. Tha
an
tuathanach
a
chunnaic
a’
bheain- taigh

be.pres
the.sm
farmer.sm
wh-C
see.past
the.sf
wife.sf
 house.sm.gen

a’
fuireach
[ann an]
Glaschu
far

a




prog
stay/live.vn
in

Glasgow
where.dep
wh-C

bheil

i
fhein
a’
fuireach
cuideachd.

be.pres.dep
3sf
self
prog
stay/live.vn
also

‘The farmer who the housewife saw lives in Glasgow, where she also lives.’

5. Chunnaic
Mairi
Iain
a
threothas
an
achadh

see.past
Mary
John
wh-C
plow.relfut
the.sm
field.sm

‘Mary saw John, who ploughs the field.’

5.a. 
Chunnaic
Mairi
Iain
a
bhitheas
a’
treothadh



see.past
Mary
John
wh-C
be.relfut
prog
plow.vn


an
achadh.


the.sm
field.sm


‘Mary saw John, who ploughs the field.’

6. Tha
tractar

aig
an
tuathanach
a
tha
glè
shean.

be.pres
[tractor]
on
the.sm
farmer.sm
wh-C
be.pres
very
old

‘The farmer has a tractor which is very old.’

Note: NSC prefers this to the following example.

Note: Relative Clause post-posing

7. Tha
tractar

a
tha
glè
shean
aig
an
tuathanach.

be.pres
[tractor]
wh-C
be.pres
very
old
on
the.sm
farmer.sm

‘The farmer has a tractor which is very old.’

Note: NSC disprefers this to the previous example.

8. Bithidh
an
an
tuathanach
ag
eiridh
aig
meadhon-
latha



be.fut

the.sm
farmer.sm
prog
rise.vn
at
middle

day.s

nuair

a
bhitheas
a’
bhean-
taighe

a’


when.dep
wh-C
be.relfut
the.sf
wife.sf
house.sm.gen
prog

gabhal

biadh.

take.vn

food.s

‘The farmer gets up at noon, when the housewife has lunch.’

9. Bithidh

an
tuathanach
a’
treothadh
an
achadh

be.fut

the.sm
farmer.sm
prog
plough.vn
the.sm
field.sm

[ann an]
dòigh
atharraichte
bho
a

nàbaidh.

in

way.sf
different
from
3sm.poss
neighbor.s

‘The farmer ploughs the field in a different way than his neighbor does.’

10. Tha
an
tuathanach
a’
tuigsinn
carson
a
chaill


be.pres
the.sm
farmer.sm
prog
understand.vn
why
wh-C
lose.past

e
an
obair

aige
[ann an]
[Dun Èdin].

3sm
the.sm
work.sm
at.3sm
in

Edinburgh

‘The farmer understands why he lost his job in Edinburgh.’

10.a. 
Tha
an
tuathanach
a’
tuigsinn
carson
a



be.pres
the.sm
farmer.sm
prog
understand.vn
why
wh-C

chaill

e
a

chosnadh
[ann an]
[Dun Èdin].

lose.past
3sm
3sm.poss
earn.vn

in

Edinburgh

‘The farmer understands why he lost his job in Edinburgh.’

Note: embedded wh-question

11. Nan
gabhadh
sinn
am
bus
bhitheadh
e
nas



if.dep
take.cond
1pl
the.sm
bus.sm
be.cond
3sm
compr


saora.

cheap.cmp
‘If we took the bus, it would be cheaper.’

Note: Conditional

12. Ma
ghabas

sinn
am
bus
bithidh
e
nas
saora.

if
take.relfut
1pl
the.sm
bus.sm
be.fut
3sm
compr
cheap-cmp
‘If we take the bus, it will be cheaper.’

Note: Conditional

13. Mur
nach

bitheadh
an
tuathanach
air
a
bhith
ag

if.neg
NegComp
be.cond
the.sm
farmer.sm
on
tran
be.vn
prog

obair

leithid,

dh’fhaodadh
e
a
bhith
air
a’
bhean-

work.vn
so much
might

3sm
tran
be.vn 
on
the.sf
wife.sf

taighe

a
phosadh.

house.sm.gen
tran
marry.vn

‘If the farmer had not worked so much, he could have married the house wife.’

Note: NSC reports that the ‘nach’ at the beginning is not prescriptively correct (Is Mura correct instead or just Mur)
Note: Inverted nominal construction.

Note: 
